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[N of associated (recoToSim) tracks vs dxy

| N of associated (recoToSim) looper tracks vs dxy

9] 1%} 123 0
X x x X
S 5 8 g g .
= 10 =1 = &5 10
3 £ g
£ s g
10* s 10*
=]
3
10° 10°
10? 102
10 10
11 T 1451 | N | NS U ¢ ||| ISR
o *v" J M
g H ;
T I I D M TT man MODIF '
e i IHHH 0l H”HH‘P‘HH B T T = I HIHHH'WHIHIHH Il = . HI HH o SRR TINT i 0 BT TR =X L Al
I 1 i |10 1 il |l 1 f ‘ f .
| L H LN il n\| H L
0995720~ —10 -5 10 0 25 OSEiE10 5 B B 16T 25 0995= 20—15—10 -5 10 0 25 09 iETI0 5 © 5~ 1015 20735
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 2 2 2 F
Q Q [=] [}
g g, g g I
= < 10 = =10
[ (0] Q E
£ £ s f
3 g. 3-
10 3 10°F-
10? 10°E
10F
1
<] + : I°) o v
”Hi} Fﬁuﬁ,ﬂ*ﬂﬂ”“ 3
0.95! L 0 0.95/ L 0.95! . H
%0 201001020 30 30 -20 -10 0 10 20 30 %20 -10 0 10

track dz (cm)

=30 -20 -10 O 10 20 30
track dz (cm)

track dz (cm)

20 30
track dz (cm)



	Contents
	Page 1


